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1.

2.

3.

afe p 3R g AT T (1, 2,3,4) A §,
A p2+gx+1=0% T & THIERWM,
51 o1 areafess &, Hr g T R ?
(a) 12
(®) 10
©) 7
d 6

1-2+3—-4+5—....+ 101K AH AT

1515

(a) 51

(b) 55

(©) 110

@ 111

IRk 4, B R C Tt fog 0 ag==a &

T €, a1 Frafafea g=gt # @
FET Gy del AEl © ?

(a) AUuAnB) =-AUB

- (b) AN(AUB) =4

(©) (ANB)UC = (AUC)N(BUC)
(d) (AUBNC = (ANC)UBNC)

.afe R 3oh % wam » 9E w1 Aree

(n+12) ®, A 6 G UG FAT © ?
@, |
() 2

(c) 3

d 4
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5. k< 9% W9 @41 § o forg

22 -2(k-2)x—(k+1)=0 & Tl &
A T AR IATH © ?

(a) -1
(b) 1

3
(c) E
@ 2

. gfe gHteor

a(b—o)x*+b(c—a)x+c(@a-b)=0

& q & &, of Ffeafafea § @ 9.

|1 el § 7

(@) a,b3Rc, APHE

(b) a, b3 c, GPHE

(c) a,b3Rc, HPH &

@) a,b 3K c Rt B Frfa ¥t =
9o el e

.afg ’x2—3x+2‘ > x?-3x+2 g, @1

@ a oo et 2 2

(@ x=<1qTx=2

(b) 1sx=<2

()N=xi=D

(d) x I Y AEafas A | Gehar
?, R 3 sk 4 &

. T TR A (GP) & 200 9 ¥ |
gt 3@ GP = faww 92l =1 arTHa m B,
| aﬁzwqﬁmﬁmn%ﬁhmm&

HAITT T © ?
(a) min

(b) n/m

(c) m+ (n/m)
(d) n+ (m/n)



1.

If both p and g belong to the set
{1, 2, 3, 4}, then how many equations
of the form px? + gx + 1 =0 will have
real roots ?

(a) 12
(b) 10

(c) 7
@ 6 y

. What is the value of

1ok B Pl S 1012
(a) 51
(b) 55
() 110
@ 111

.IfA, B and C are subsets of a given set,

then which one of the following
relations is not correct ?

(a) AU(4NB) = AUB

(b) AN(AUB) =4

(¢) (ANB)UC = (AUC)N(BUC)
(d) (AUB)NC = (ANC)U(BNC)

If the sum of first » terms of a series is
(n + 12), then what is its third term ?

@@ 1
() 2
(© 3
@ 4

5. What is the value of k for which

the sum of the squares of the roots

- of 2x2 —2(k—2)x — (k+ 1) = 0 is mini-

mum ?
(@) -1
(b)
©

1

3

Z
d 2

. If the roots of the equation

a(b-c)x*+b(c—a)x+c(@a—b)=0

are equal, then which one of the
following is correct ?

(@) a, b and c are in AP
(b) a, b and c are in GP
(¢) a, b and ¢ are in HP

(d a, b and ¢ do not follow any
regular pattern

. If |x2—3x+2 > x2—-3x+2, then

which one of the following is correct ?
(@ x<=lorx=2

b)) 1sx=<2

) 1<x<2 '

(d) x is any real value except 3 and 4

. A geometric progression (GP) consists

of 200 terms. If the sum of odd terms
of the GP is m, and the sum of even
terms of the GP is n, then what is its
common ratio ?

(@) m/n
(b) n/m
(c) m+ (n/m)
(d) n+ (m/n)
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9. af% TF W= A W 3 39ga € ok @

10.

11.

12.

=99 B H 6 I@@a ®, dI (AUB) #
R feraw 3999 & daa © ?

(@ 3
(b) 6
(c) 8

@ 9

Teh 37eqsl o feapolt ot Gear = © 2
(a) 48 |
(b) 40
(c) 28
(@ 20
1079131

2! 3! 4
3l 4t 5!

HIHFEAFTE ?

(a) 0
(b) 12
(c) 24

(d 36

X% H | A GHIERT

3x. 0 2
2 2 1 A A |
1L | | 0 JAET [V |

e el ?

% 02

+ =0
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(@) 2443

SO e

13.

14.

15.

(c) ~1+/6
@ -2x+6

'q"%-'x+a+b+c=0 %,F?f

x+a b Cc
a x+b ¢

WA T ?
a b x+c

(@ 0

() (a+b+c)?
(© a>+b+c2
(d a+b+c-2

ZT&A=|:_: i
- .
(a) TH YA ATYE
(b) T dcHS ATgE

(c) A % ER

]%,ﬁ’raifﬁﬁ—mz

(d) —A4 & SR

AW AT 16 m 3R 7 (m < n) Tt
—16x+39=0%qa % | Al m 3R n
%Eﬂ?ﬁ,ﬂ]'{qﬁ’p,q,raﬂ'{s?ﬁm‘
W WA § foF U AP (gHT=R A0IT) o=
S, W p+q+r+sHATFTE ?
(a) 29

(b) 30

(c): 32

(d 35



9, If a set A contains 3 elements and

10.

11.

12.

another set B contains 6 elements, then
what is the minimum number of
elements that (4UB) can have ?

(@ 3
(®) 6
(c) 8
(d 9

What is the number of diagonalls of an
octagon ?

(a) 48

(b) 40
(c) 28

(d) 20

What is the value of the determinant
10, A3l

21 31 4!
3! 41 5!

?

(@ 0

(b) 12

(c) 24

(d) 36

What are the values of x that satisfy the
equation

il 02 3x 0.2
2x 2 1|+[x* 2 1]|=02?
TR 00 T A e |

13.

14.

15.

(a) —2++3
(®) —-1++3
© s
d —2++/6

If x+a+b+c=0, then what is the
value of :

x+a b c
a x+b c
a b x+c

(@ 0

(®) (a+b+c)?
(c) a2+b*+c
d at+tb+c-2

?

1
If A=[ 1 J , then the expression
A3 —24% is
(a) a null matrix
(b) an identity matrix
(c) equal to 4
(d) equal to —4
Let m and n (m <n) be the roots of
the equation x?— 16x+ 39 =0. If four
terms p, g, r and s are inserted between

m and n to form an AP, then what is the
value of p+g+r+s ?

(a) 29
() 30
) 32
@ 35
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16. frm ufcsisr & aefim femma asfiamor

17

18.

19.

2 +mx+2=0 % A, AN IR
T B ?

(a) 2+3<m?<8

(b) 3<m?<4

(©) m?>=8

@ m?<+3)
[i+ﬁi|2019+ |:i——\/§

2 2
g7
(a) 1

(b) -1
(c) 2i

@ -2i

2019
} <l AT T

ﬂﬁ'aaﬁiﬁﬂl‘ﬁ'ﬂi{w
R+x+1=0F A &, A
Esl(af«rﬁf) frad R 2 7
=0

za) 8

() 6
(c) 4
(@ 2

s fommem #, 50% B fhdhe Uea €
IR 40% BT Fesia o & | A 10%
¥ ol B Wed &, a fehaw wiava
BE q ar fohhe Wod € R 9 &
Fedia ?
(@) 10%
(b) 15%
(c) 20%
(d) 25%
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21.

22.

23.

20,9 A= fx:0sx<2} 3R B={y; y

Ts AT €@ ®) ®, ar ANB fFas
WEL ¢ ?

@ @
®) {1}
© {2}
@ {1,2)

R x=1+i & A x5+x4+x2+1 &1

HAE HTE ? ; -
(@) 6i—3
(b)" —6i+3
(c) —6i—-3
(d) 6i+3

2+ HHAAFETI® ?

(a) V2-1

(b) V2+1

() 3

@ 4

afe P(n,r)=2520 3R C(n, r) =21 %,
@ Cn+ 1, r+1)TMAAFT© ?

(a) 7

(b) 14

(c) 28

(d) 56



16.

17.

18.

19.

Under which one of the following
conditions will the quadratic equation
x% + mx + 2 =0 always have real roots ?

(@) 23<m?<8
b B3=m?<4

() m2=8

(@ m?=<43

What is the value of

{ 2019 ¢ 2019
i+3 5 i—3 ;
2 _ 2

(@) 1

(L)l
(c) 2i
(d -2i

If a and B are the roots of

x?+x+1 =0, then what is
3

E(af +ﬂf) equal to ?
Jj=0

(a) 8
(®) 6
(c) 4
@ 2

In a school, 50% students play cricket
and 40% play football. If 10% of
students play both the games, then what
per cent of students play neither cricket
nor football ?

(a) 10%
(b) 15%
(c) 20%
@) 25%

20.

21.

22.

23.

IfA={x:0<x<2} and B={y; y is
a prime number}, then what is 4ANB
equal to ?

(a) @

(®) {1}

() {2}

@ {1,2}

Ifx=1 + i, then what is the value of
XOGE b 22

(a) 6i-3

(b) —6i+3

(c) —6i-3

(d 6i+3

‘What is the value of

2k il ?
2+ ]
1

24+ ...00 -

2+

(@ v2-1

(b) V2 +1

(c) 3

@ 4

If P(n, r) = 2520 and C(n, r) = 21, then
what is the valueof C(n + 1,7+ 1) ?
(@) 7

(b) 14

(c) 28

(d) 56.
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24. (1 +2x+ 225+ (1 + 4y + 42 F FER

2n
- 25, 7fe [xz +%]

26.

#Afrmag € ?
(a 12

®) 20
© 21

@ 22

¥ WER H A UG
184756x1° ®, T n o1 ATA 9T § ?

(a) 10 |

(b) 8

) 5

@ 4

3 4
freafafea % @ o= @ @@t & ?

af A=[% %]ﬁ'{BE(; %) |, @

(a) AB SR BA QI o1 Afered ©

(b) A AB T Hfera & 3R A & B4
<hl

(c) AB w1 sfers ¥, A B4 =1
Fferea 7 |

(d) AB  Af&ica Ael &, o BA T
e @
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27.aﬁn!fr17_§1ru%,€rnrﬂm=rw% ?

28.

(a) 95
(b) 85
(c) 80

(d) n <l QET HE A T ®

{1 Sifoie fof 4UB = |
{x|(x—a)(x-b) >0, & a<b} © |
A3 B formar sqe € 7

(@) 4= {x|x>a} IR B= {x|x> b}

- (b) A= {x|x<a} 3R B= {x|x>b)

29.

() A= {x|x<a} 3R B= {x|x<b}

(d) A= {x|x>a} IR B= {x|x<b)}

ﬁ[(—%}lo%mﬁﬁﬂa 405
2,k F AN TR TR © ?

(@) +2

() 43

(c) +£5

S (@) 9

30.

C(47, 4) + C(51, 3) + C(50, 3) +
C(49, 3) + C(48, 3) + C(47, 3)
ferares sTeT ® 7

@) C(47, 4)
(b) C(52, 5)
() C(52, 4)
@ C@7, 5)



24, How many terms are there in ﬂle' 27. If n! has 17 zeros, then what is the

- expansion of g value of n ?
(L+ 2+ 22+ (1 +4y+4y%)° 2 (a) 95
(@) 12 ' (®) 85
(c) 80
2
(b): 20 (d) No such value of 7 exists
()l 28. Let AUB =
@ 22 {x|(;r —a)(x— b) > 0, where a < b}.

What are 4 and B equal to ?

: (a) A= {x|x>a} and B= {x|x> b}
25. If the middle term in the expansion of :

12" (b) A= {x|x<a} and B = {x|x> b}
: ( x2 +;) is 184756x0, then what is _
' c) A={x|x<aland B= {x|x<b
the value of n ? © ol & i }

(d) 4= {x|x>a} and B = {x|x < b}

(a) 10
29. If the constant term in the expansion of
(b) 8 10
(wf_ ——’%J is 405, then what can be
x A
(o) the values of k ?
@ 4 (a) +2
' | ‘ (b) =3
215 Aol 3 - S
St A2 S d B= , th
i (2 1) i d) 9

hi following i t? '
Which ong of'the following is corres 30. What is C(47, 4) + C(51, 3) + C(50, 3)

B LA + C(49, 3) + C(48, 3) + C(47, 3) equal

to 7
(b) Neither 4B nor BA exists (& C@7, 4
. (b) C(52, 5)
(c) AB exists but B4 does not exist ©) C(52, 4)
(d) AB does not exist but BA exists (d) C@47, 5)
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31, T HRTT R g, b, c AP HE SRE£0 34, 7R Rt GP F R, msd IR e

@mﬁmm%lﬁmﬁ%ﬁ% e T p, ¢ AR 8, A Trafafaa &
A FE T ? Ao _ RTINS ?
1. ka, kb, kc, APH § ) ey
2. k—a,k—b,k—c, APHE
(b) 7?=pg
[ N
A 75 T s © par=1
F g T Fe H TET W T I @ 2g=p+r
: | 5
(a) ael 1 X 2 35.x<4,y=20 3R x<-4, y<O0 &1 &
(b) e 2 R 3 B
(c) Fas 1 3R 3 . - (@) x=-4,y<0
@ 1,2 3R 3 (b) x<4,y=0
32. 31 st i frae wEaT 4 ¥ Ry (c) x=—4,y=0
£ @ x=-4,y=0
(a) 21
(b) 22 36. Tfe x108% > 7, 518t x> 08, A Fraferfea
©) 24 | ¥ Y AT e ® ?
@23 | ] (a) x€(0, x)
33. A9 R R 5, fedt AP WM 2 TR0 ;
& anrEd € | afe Sy, =3n+ 14n® %, (b) xe.[;, 7)
AN EE AR AT ® ?
@y 5 (©) IE(O, l]u‘:’/, )
(b) 6 | 7
(c) 7 ’
(d) 9 (d) xE(“i, OOJ
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31.

32.

33.

Let a, b, c be in AP and k # 0 be a real
number. Which of the followmg are
correct ?

1. ka, kb, kc are in AP

2. k—a, k—b, k—c are in AP

3 ‘E, are in AP
k

a C
i’ k

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2 and 3

How many two-digit numbers are
divisible by 4 ?

@) 21
®) 22
(c) 24

@) 25

Let S, be the sum of the first # terms
of an AP, If S,,= 3n + 14n?, then what
is the common difference ?

@ 5
(b) 6
(c) 7
@ 9

11

34. If 3rd, 8th and 13th terms of a GP are
P, q and r respectively, then which one
of the following is correct ?

(@ q*=pr
() ?=pq
() pgr=1

d 2g=p+r

What is the solution of x < 4, y=0and

x<—4,y<07?

35.

(@ x=—-4,y<0
b).x<4,y=0
(C) x""‘{"“4sy.=0

(d) x=-4,y=0

If xI°* > 7 where x > 0, then which
one of the following is correct ?

36.

(a) x€(0, )

(®)

(@) xe(l, m]
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37. GO 22 + 3|x| +2 =0 o feran

38

39.

Tt 7T ?
() =

(b) TH

© @

(d) IR

. feama afe=or 4(x-p)x—q)—r2=0,

ﬁp,qﬁ?raﬁﬁﬂ?mlﬁ, %5
ey 3 frfafad w faer i -

1. SE% Hel ATEI(h ©

2.36% T §AM € afg p=¢q K
r=0€f

Iodeh & B A1/ FAA W R/E 7
(a) Saa 1

(b) Fad 2

(c) 1R 2t

(d) T, ARAT2

A iforg o6 §= {2,4,6,8, ........... 20}
R 15 % Soageadl H siftehan we

B ?
(@) 10
(b) 20
() 512

(d) 1024

BEM-D-HTM — A
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40. T feamat ¥@m (cdeeddeceddd), _A

41.

42.

Frefira &t st &, STet c>d ® | @
A I FT R ?

(a) 1848
b) 2048

(c) 2842

(d) 2872

29 o
Ife cosecO= o el 0< 0<90°%, al
4secB + 4tan® T A HT T ?

(@ 5
(b) 10
(c) 15

(d 20

Frafafea waat «w® fomr fifvg .

1. cos@ + secO &3t it 1-5 aﬁ-aﬂ«'ﬁ
G 8 g |

2. tanf+ cotd T S 2 A FH A &
T | '

S & & A AT/ FE w28 2
(a) saa 1

(b) Had 2

(c) 1323t

@ AR 1IRAD2



37. How many real roots does the equation

38.

39.

x2+3|x|+2=0 have ?
(a) Zero
(b) One
(¢) Two

(d) Four

Consider the following statements in
respect of the quadratic equation

4(x —p)(x — ) 2= 0,
where p, g and r are real numbers :

‘1. The roots are real

2. The roots are equal if p=g¢g and
r=0

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Let S= {2, 4, 6, 8§, 203}.
What is the maximum number of
subsets does S have ?

-----------

- (a) 10

(b) 20
(c) 512

(d) 1024

13

40. A binary number is represented by

41.

42.

(cdccddcceddd),, where ¢ > d. What is
its decimal equivalent ?

(a) 1848
(b) 2048
(c) 2842

(d) 2872

If cosecO = 21 where 0 < 8<90°, then

what is the value of 4secf + 4tanf ?
(@ 5

(b) 10

(c) 15

(d) 20

Consider the following statements :

1. cos@ + secO can never be equal
to 1-5.

2. tan@ + cot@ can never be less thaﬁ
2,

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

A — BEM-D-HTM



43. 9 m ¥ T Wil TF T (S5) &a9Iq08
F ¥ 0 m Y T fig 7w T T
2 | € & UIe ¥ sFeEve S S9ET 60°

? | easique o I T R 2
(@A 9m

(b) 10-5m

(c) 135m

(d 15m

44. THTE g9 & 99 A h derd @ € S
I % ohg K IV O AART IR § 7

ol
®) cos@]
& salY]
@ 2cos[g]
45. tan{z tan"(%]} feraer sRI=] %_ ?
(@

(b)

Alw WM

©

00| W

(@

O | =

BEM-D-HTM - A

14

46.

-3 ~ A. ~ -3 i 4% ~
a=i-2j+k w1 b=4 -4} +7k

| R fey w8 =T B ?

47.

48.

3.

(@ g

(®)

E

9

9
(©) E

=

@ T3 | |
g A PR Gt & AR v
GIRATOT ek 3R o IRATT &% SR ®,
AR dasR o aa g ?

(a) afey TR &

(b) |few w1 €

(c) wfew wfoemiar €

(d) afesr s =z wfewr €9 =nfeg
X alyt 7 @R b ¥ g feafiRe
e W) femr diforg

1% [Z'l‘?;) - (z—‘_g) =

23

2 2

—_—

2
- 3? - T —
a-b| + |axb a

o2
i
SUdeh # | I A T T © ?
(@ 1,233

(b) “Shaer 1 3R 2

(c) ¥aw 1 3R 3

(d) a2 3 3




43.

45.

A ladder 9 m long reaches a point 9 m
below the top of a vertical flagstaff.
From the foot of the ladder, the eleva-
tion of the flagstaff is 60°. What is the
height of the flagstaff ? ‘

(@ 9m

(b) 10-5m
() 13-5m
(d 15m

. What is the length of the chord of a

unit circle which subtends an angle 6
at the centre ? :

o
®) cos(-g]
\

. (@
(c) 25“{5}

\‘

0
(d 2 COS(E

/
What is tan{2 tan""'(%)} equal to ?

(a)

®)

0w hlw w|N

©)

@

O | =

15

46.

- (b)

47.

48.

What is the scalar projection of
- - a - —_ .n A a
a=i—2j+k on b=4i-4j+7k ?

V6

(2)

fam—
v O

(©

& Ble ol

@

O

1

If the magnitude of the sum of two
non-zero vectors is equal to the magni-
tude of their difference, then which one
of the following is correct ?

(a) The vectors are parallel

(b) The vectors are perpendicular
(c) The vectors are anti-parallel

(d) The vectors must be unit vectors

Consider the following equations for

=y -
two vectors @ and b :

(—) —> . L _)2 —)2
1. | a+ b -(a—b)= al—1|b
\
( T 2 :
2. E’+B’)( a—b]=?} e e
\
2 2 2 2
3. Z-b + 3)(7; =|a| |

Which of the above statements are
correct ?

(@) 1,2 and 3

(b) 1 and 2 only
(¢) 1 and 3 only
(d) 2 and 3 only

A — BEM-D-HTM



49, taferfea AT W R Sifvg

L?xgﬁﬂﬁmmﬁﬁ%“ﬁﬁﬁﬁ

@ 3R b a T P @ fe

(b) Fa 2
(¢ 1327
(@ AAM1ARAAN2

- 50.af% @ 3 b zws wfew € sk o v
aﬁwaaw%,awsmz(g]mm

g7

ol

+

Rl

(@

(@

BEM-D-HTM - A

51. GHIGRUT ax + by + ¢ = 0 Teh TR L@l &l
et =war @

(a) | i G@IEN a, b HR ¢ &
At |

(b) e ¥t 5 @ # 0 A
- (c) aﬁﬂﬁiﬁﬁab;&O‘@l
(d) Faaalt v o IRHF AT AT
g TH YRR B

52. @131l xcosa + ysina = a 3R
xsinf3 — ycosff=a '

& = & T TR 7
(@ f-a
b) n+B-a

o) (m+2B8+2a)

( 2

(m-2B+2a)

) 5

53. ﬁgaﬁ P(m cos2a, m sin2a) 3T
O(m cos2f, m sin2) & o9 f @ 21
g7 |

(@) |2m sin(a - )|
(®) [2m cos(a - B)|
(c) |msina—2pP)|

(d) |m sina - 2p)|



49. Consider the following statements :

50.

1. The magnitude of axb is same
as the area of a triangle with sides
- :

3-md b
2- If 3)(3:6 where 3756, 3:&3,
then 32/13

Which of the above statements is/are
correct ? '

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If @ and B’ are unit vectors and 6 is
the angle between them, then what is

sin? (g) equal to ?

|5+5‘2
(a) T
|a-5[
(b) n
( }E+5‘2
c) 5
: |a-5[
(@) 5

17

51. The equation ax + by + ¢ = 0 represents
a straight line

(a) for all real numbers a, b and ¢
(b) only when a # 0
(c) only when b # 0
(d) E)nly when at least one of @ and &
. is non-zero
52. What is the angle between the lines

xcosa + ysina=a and
xsinf3—ycos=a?

(@ B-a
®b) n+p-a

o (E+28+20)

: 2

@ (n—2§+2a)

What is the distance between the
points P(m cos2a, m sin2¢) and
O(m cos2f, m sin23) ?

53.

(@) |2m sin(a— p)|
(b) |2m cos(e — )|
(©) |msinQCa-2B)|
(@) |m sinQa —2p)|

A — BEM-D-HTM



54. T gHaTg s @ w i (-1, -1) ™R

# ok g ot (3, V3) w® | e
MY el R & aHar § ?

@ (—2,+2)
® (V2 -+2)

() (1, 1)

@ -1

55. af¢ <rHaa Z—z+z—j=1 % Y IF &
sicr forgatt =Y, saht weh iy ¥ frem
aeh Yawit % < 2 2,
ST it Isheal [T & 7

1
(@) 5

(®)

-

(©

N!&

BEM-D-HTM — A
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56.

58.

W@ R R g % fume
(p+1, p-3, 2p) % & p =
areafys d@n £ | X@r f Regwa
(feem-=ramsa) =1 € ° ;

1

1
3 23 ,\/5

(2)

N =

N |

L
(b) E,zn

1Rl 1

5 i)
(d) F9aTH el & wrRur 3@ faifa

(c)

@ G5 4)
(®) 2 5,5)
© 1,-1,9)
@ (@ -1, 0)

R X x;4=y12=z-:—zk "

2x—dy+z=7 R Ba g, @ kFw AW
TR ?

(@) 2
(b) 3
(¢ 3
(d) 7




54. An equilateral triangle has one vertex

at (-1, -1) and another vertex at
(—ﬁ, ﬁ) The third vertex may lie

- on

55.

(;) (-+2, +2)
®) (V2, -+2)

() (1, 1)

@ 1, -1

If the angle between the lines joining
the end points of minor axis of the

ML Ve ¢ L
ellipse 20y +-52— =1 with one of its foci

is L, then what is the eccentricity of

2
the ellipse ?

1
(a) E

()

-

(©)

by

|

(@

5

19

56.
(ptl, p-3, '\/Ep) where p is any

57.

S8.

A point on a line has coordinates

real number. What are the direction
cosines of the line ? :

L
92’

N | =

(2)

-

(b)

™
N | =
N | =

1 1

%
© ol g

(d) Cannot be determined due to
insufficient data

A point on the line

X—=1 Wy uNzE2
R R

has coordinates

(@ (3,5, 4)
®) 2,5, 3)
() 1,-1,5)
@ (2,-1,0)

If the line lies

x-4 y-2 z-k
1 i

on the plane 2x — 4y +z =7, then what

is the value of k?

(@) 2

(b) 3
(¢) 5
d 7

A — BEM-D-HTM



59.

g (1,1, 1) | oA Al TH WA W@
z-AE < GFTCHS feum & @1 60° &1

IO SARH §, 3R b gRT -3 3K
x-A& Ht gATHS Tt & @ig a@=w

T FIUT F FEEA A/3:1 % A A

60.

€ | 36 Y@ < gwifen o feuft < <=
ST AR FT § ?

(@) 90°
() 60°
(c) 45°

(d 30°

T.[% ﬁg (X,}’, '_‘3)’ (2a 09 "1) aﬁ( (49 2: 3)

‘ @W@W@H%,ﬁxaﬁ?y%

61.

HIF SHAST: T § 7
@) 141
() -1, 1
(c) 0,2
(d 3,4
a’ b

s mwmw%v

cos’x sin’x

Wela>03ARb>0T ?

() (a+b)y
(b) (a- by
() a’+b?

@) |a*+ b7

BEM-D-HTM — A
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62.

63.

64.

7 foret Bt ABC & 901 AP (TR
Qruﬁ) ﬁ'%, IR b:c=«/§:«/§ %,?ﬁ
aﬁﬁA‘m’rmw%?

(a) 30°

(b) 45°
(c) 60°

(@ 750

A tand — tanB = x 3R cotB — cotd = y
®, A cot(4 — B) &l HIM 4T & ?

@ —
by 2l

(©)

(d)

sin(a + ) — 2sina éosﬁ + sin(a - )

forreh seR ® ?
() 0

(b) 2sina

(c) 2sinB

(d) sina+sinf



59.

60.

61.

A straight line passes through the
point (1, 1, 1) makes an angle 60° with
the positive direction of z-axis, and
the cosine of the angles made by it
with the positive directions of the
y-axis and the x-axis are in the ratio

/3 :1. What is the acute angle between
the two possible positions of the line ?

(a) 90°
(b) 60°
(c) 45°

(d 30°

If the points (x, y, —3), (2, 0, —1) and
(4, 2, 3) lie on a straight line, then
what are the values of x and y respec-
tively ?

@ 1,-1
®) -1,1
(c) 0,2
(d 3,4

What is the minimum value of

aZ b2

+
cos’x sin’x

wherea>0and »>07?

(a) (a+b)?
(b) (a-b)
(c) a?+b?

@ |a*+b%

21

62. If the angles of a triangle ABC are in

63.

AP and b:cz-@:ﬁ, then what is
the measure of angle 4 ?

(a) 30°

(b) 45°
(©) 60°

(d) 75° -

If tan4 — tanB = x and cotB — cot4d =y,
then what is the value of cot(4 — B) ?

()
(b)
(©)

(d)

. What is sin(a + f8) — 2sina cosff +

sin(a — B) equal to ?
(@ 0

(b) 2sina

(c) 2sinf

(d) sina + sinf

A — BEM-D-HTM



65. af¢ 2tand = 3tanB =1 ®, A tan(4 — B)

foraeh R © ? 68. cot(%)ﬂan(g) forereh SRR ® 7
(@ » ARRES () tand
> (b)_ cotd
1  (c) 2tand
i “ (@ 2cot4
(c) l 69. cotd + cosecd TerEer SR % ?
7
' : A
@ = | @l )
9
A
L=
66. cos80° + cos40° — c0s20° (b) co (2)
fermes seR ® 7 iy
(@ 2 (©) 21311[-5) |
(®) 1 7
8 2 t(_..]
() 0 (d Z2co 3
(d) -19

70. tan25°tan15° + tan15°tan50° +

tan25°tan50° ferareh e ® ?
67.afs frelt s ABC %1 =1 C T

TR 2, Y tand + tanB TR SRR @50
R 2 | (b) 1
(c) 2
Gl e | @ 4
5 - ab
2 71. |x| <5,y =03 y = 8 g1 uftsrg (FR
&)~ ) 7 o S R 2
\ (a) 40t S
b
(s (b) 807 TS
¢ (c) 120 zTs
(d) 53 (d) 1603 TS

BEM-D-HTM — A 22



65. If 2tand =3tanB=1,

then what 1s
tan(4 — B) equal to ?

@ 1

(b)

| =

- ©

~q |-

(d) =

66. What is cosSO" + c0s40° — cos20°
equal to ?

(a) 2
(b) 1
(© 0
@ -19

67. If angle C of a triangle ABC is a right

angle, then what is tand + tanB equal
to ?

a’ - b?
ab

(2)

®) —

(d)

23

68. What is cot[gj - tan(-;ij equal to ?

(a) tand
(b) cotd

(c) 2tand
(d) 2cotd

69. What is cotd + cosec4 equal to ?

(4
@ ()
(b) cot(g)

(c) 2tan(§)

(d) 2cot ( g}

70. What is tan25°tan15° + tan15°tan50° +
tan25°tan50° equal to ?

(@ 0

® 1
(c) 2
(d 4

71. What is the area of the region bounded

by |x| <5, y=0and y=87?
(a) 40 square units
(b) 80 square units
(c) 120 square units
(d) 160 square units

A — BEM-D-HTM



72. x # 0 3R £(0) = 0 F T FeF
£ = sm[]%mﬁﬁmﬁlﬁﬁ
Fol R fmr i -
L. lim Fx) 1 AfEre ©

2. x=0R f(x) & ®

ST | A A W1/ w@ R/ f

(2) Shaei 1

(b) a2

(c) 132t
(d FA1ARAT2

735 Jin)

?
lim tan3xoaﬂﬂﬁm% _

(a)

B —

W | =

(®)

©

1] =

@ 1

ARl THIHIT

Ay, d_y] Lo g
dx dx dx

&t ura (feft) #n @ ?
(@) 1
(b) 2
(c) 3
(@ 4

74.

BEM-D-HTM — A

24

75. feafafes & & <7 @1 foa sgwe

A f(x) 7, Tl f(0)=5, f(-1)=10
IR A()=6% ?

(a) 5x2—2x+5
(b)3x2=—2x=5
() 3x2-2x+5

(d) 3x2-10x+5

TR e (03) WAt o forg fdar -

Pl m & ofi ot art
A WAl F IR S

Ueh 9sh y =me :WM>0,y_-3Tfﬁ'aﬁﬁ§
Pm‘uﬁl%aa?{m%l
76. Hﬁl@aﬁgf?mwﬁm(ﬁm)
S WR?
(@ m
(b) m?
(c) 2m

d) 2m?

77. P W @R @1 y-F& F WG TR0

A ?
(a) tan'm?

(b) cot™'(1+ m?

() sin_l( - ]
\1+m?
(d) s.ec"\!1+m4



72.

73.

74.

Consider the following statements in

respect of the function f(x) =sin(l) [
x

for x # 0 and f(0) = 0:
1. lim f(x) exists
. x30

2. f(x) is continuous at x=0

Which of the above statements is/are
correct ? :

(a) 1only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

What is the value of lim sinx® 7
x—0 tan3x°
1
a —
(a) 2
1
(b) 3
1
c —
© 5
(@ 1
What is the degree of the differential
1y ey ? d'y
equation F-'-(Ex_] —x? = =07?
(@ 1 '
(b) 2
(c) 3
(d 4

25

s.

Which one of the following is the
second degree .polynomial function
f(x) where f(0)=5, f(-1)=10 and
f)=6?

(@) 5x2-2x+5
(®) 3x2-2x-5
(c) 3x2—2x+5

(d 3x2-10x+5

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

A curve y=me™ where m >0 intersects
y-axis at a point P.

76.

7.

What is the slope of the curve at the
point of intersection P ?

(a) m
®) m
(c) 2m

(d) 2m?

How much angle does the tangent at P
make with y-axis ?

(a) tan 'm?

(b) coti(1+m?)

(©) sin‘l[ 1 4]
1+m
(d) sec! 1+ m*

A — BEM-D-HTM




78.Pwaﬁﬁmfi§1tﬂaﬁamw 31._[ dx e R & 7
® 7 \ 2x* -2x+1

@ y=mx+m

— + -1 -
(b) y=-mx+2m tan” (2x-1) ,

(@) >

() y=m?’x+2m

(@ y=mi+m '
(b) 2tan'(2x-1)+c¢

wnu&?r‘(oz)wsﬁ%%qﬁim:

freafafen geen = afen sk sm oW @@ tan!(2x +1)

2 7t 3 we AR Blral s
W dive 6 fx)=x2 g(x)=tanx 3 |

hGx)=Inx % | (d) tan'(2x-1)+ec

79. x = % & 1T [ho(gof)](x) &1 w1 FaT

dx ' :

_%? SZ.IWWW%@;&I)?
(@ O
b) 1 ' 1

. & e
(c) 2

T 1—-n
(d) 5 (b) W ¢

80. [ fo( fof)1(2) ferarss sTe & ?

n+1
(a) 2 (© W“
() 8 '
(c) 16 i
P
(d) 256 @ (n~l)_(l+bzx)"“l+c

BEM-D-HTM - A ) 26



78. What is the equation of tangent to the

curve at P ?

(@) y=mx+m
(b) y=-mx+2m
(c) y=m’x+2m

@) y=mx+m

Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Letl f(x) =22, g(x)=tanx and h(x) =Inx.

79. For :x=3/2£, what is the value of

[ho(gof)1(x) ?
(a) O
(®) 1

- (©

N

|9

@

80. What is [ fo(fof)](2) equal to ?
(a) 2 | |
(b) 8
(© 16

d) 256

81. What is I equal to ?

2x? _-2x+1

Lk
tan” (2x 1)+c

(a) 5

(b) 2tan”'(2x-1)+c

tan (x+1)+c

G =

(d) tan~'@x-1)+c

dx

i) equalto(n#1) ?
X nx

82. What is J'

: +cC
(n—1)(1+In x)""

(2)

1-n

Wi

n+l
(1+In x)™*!

©

1
@ -~ DAt i

A - BEM-D-HTM



83. Pl & qe s TR
RS Bh-FA 5=

2

2x -c’qﬁ0@
W3 A 2, = Frefia wxar £ ?

AN
€)) it XY

dy

(b) o

-_—
—

i
y

amTeEt g (02) WAt F forg Al

freffen g = IRy ok o o A
2wt 3 v A -

FHIER x? = 7 W f=r $iftg
LA dy
34.x-1waﬁmﬁm%?

(@ 0
®) 1
() 2

d 4

BEM-D-HTM - A
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2
85. x= 1R 2 R e 2 2
dx? '

@) 0
(b) 1
© 2
(@ 4

st e (03) W S5 R it

Frefefea g i afie stk smr amy

BT f(x) = g(x) + h(x) R f=R Hifm, et
gx) = Sin(-ﬂ 3R h(x) = cos[%] ?

36-‘;“ glx) = AEdEE () T
fel

(@) =

(b) 2x

(c) 4z

(d) 8=

sm;raa h(x) =1 -smadee () @
?

(@ «

4

(b)5

s

) 7

3

d
()2



2

. Whi the following i '
83. Which one of the following is the 85. What is féx—-: at x=1 equal to ?

differential equation that represents the

family of curves y= S whg're c (a) 0.
is an arbitrary constant ?
g ®) 1
(c) 2
dy 2 :
a) —=4
Directions for the following three (03)
(b) d_y = _1_ items :
s
- W Read the following information and answer
the three items that follow :
(c) % =x’y " Consider the function f(x) = g(x) + A(x)
where g(x) = sin(%) and h(x) = cos(%)
dy Bl Jdio
&) Tt g 86. What is the period of the function
gx)?
(@ =
Directions for the following two (02) items :
(d) 2#
Read the following information and answer
the two items that follow : (c) 4
Consider the equation x¥ =e*” @) 8=

87. What is the period of the function

84. What is Zx_y at x=1 equal to ? hx) ?
(a) =

@) 0
47
(b) T

(b) 1
Sn
©) =
© 2 2
3
d) ==
@) 4 8=

29 A — BEM-D-HTM



ssw/f(x)awamﬁmm(qﬁﬁw)w
)

(@ 10z
(b) 20x
- (c) 40r

(d 80z

AR 3 (02) WAt 3 foro s -

ﬁw%%aqgmahv%qaﬁraﬁaﬁm%
3 W % SR Sf ;

BAT f(x) = 3" — 20x% — 12x2 + 288x + 1

R feR Sifsg
89, freafifes F ¥ few st # o
THA § 7
@ (-2, 3)
®) G, 4
© (3,-2)
@ (-4,-3)
90. frforfes & & frm siower & wem
FIEAH ® ?
@ €2,3)
®) 3, 4)
() 4,6)

(d) (6,9)

BEM-D-HTM - A
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A fw (03) Wt * forg Frdar -

e e 3 e o st o e
T T F IR A

T wifora :
S®) =x2+2x - 53K g(x) = 5x+3o%

91

- THIHT g[ f(x)] = 0 & 5T 1 € 2

(@ 1, -1
(b) _-]: =1
© L1

AR (d)ROSH

92.

93.

frefafes Fadt w fer fiftm .
1. f[g(x)] 5 3 T T Ige # |
2. glg(x)] W 2 %1 T 7w B
S # X A A/ o R 2
(a) e 1 |
(b) Haw 2
© 19K 23
(d) T LARTE 2
R ) =5 —xe®) & T e
AGHAT FT § ?
(a) —40
() —20
() -10

(d 0



88. What is the period of the function
f?

(@) 107
() 207
(c) 40m
d) 807

Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Consider the function
f(x) =3x*—20x> — 12x2+288x + 1

89, In which one of the following intervals
is the function increasing ?

(a) _(_23 3)
®) 3,4
© (3,-2)

@ 43

90. In which one of the following intervals
is the function decreasing ?

@ (2 3)
b) G.4)
() (4, 6)
d (6, 9)

31

Directions for the Sfollowing three (03)
items : :

Read the following information and answer
the three items that follow :

Let f(x) =x%+2x— 5 and g(x) = 5x + 30

91, What are the roots of the equation

gl/(x)]=07?
(@ 1,-1
() -1,-1 -
(c) s
(@ 0,1

92. Consider the following statements :
1. f[g(x)] is a polynomial of degree 3.
2. g[g(x)] is a polynomial of degree 2.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

93. If h(x) = 5f(x) — xg(x), then what is the
derivative of A(x) ?

(a) —40
(b) 20
(c) -10
(d 0

A — BEM-D-HTM



ST 2 (02) Wt 3 forg B

freffaa geem =i ufey ik am s am
< I % e A

HHTSRAAL
T % xdx [* (m—x)dx
180 : Iz= :

0 14+sinx 0 1—sin(z +x)
R fa=r Hifsg

94, 1, T A 9T & ?

@ o

7T
(b) =
© =«
d 2#

95. I, + L, S HIH 1§ ?

(a) 2x
(b) =
- /1
© 5

@ o

96. tan y = ¢(1 — &%) TRT feU 7T a3h-Fel A
el o 9o srawa TR §
(a) e*tanydx+ (1 —-e")dy=0
(b) e*tan ydx + (1 - e")sec’ydy =0
(©) e*(1-edx+tanydy=0
(d) e*tanydy+ (1 -e")dx=0

BEM-D-HTM — A

32

97.

98.

sinx%ﬁ“fﬁ‘# if Z(Si“x)2 <hl AAhelSl T

g7

(a) sin x 26in %)’ In4

(b) 2sinx 26 [4 |
(c) In(sin x) 26in®’ |

(d) 2sin x cos x 26’

'k%%ﬂm%ﬁqw

f

2Jc+l <)
4

L () =1k ,x=0 HWR?

99.

(2)

B o

1
® -
1

(©)
@ 2

Wh P =2x IR WRE y=x & &9
ieig & &1 SFwe 1§ ?

(a) %Eﬂfwé
4
() %aﬁsaﬂ%

(d) 1% zers



Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Consider the integrals

i ; 7 — x)dx
1 =J. xd.x and 7, =I (ﬂ:_ x)
0o 1+sinx 0 1—sin(7 +x)

94. What is the value of I; ?
(@ 0
: /4
(b) 5

() =
@ 27

95. What ]S the Value Of Il +12 ?
(a) 27
b) ©
/4
(c) E
@ 0

96. The differential equation which repre-
sents the family of curves given by
tan y=c(1 —e*) is

(a) e*tanydx+ (1 —-e*)dy=0
(b) e*tan ydx + (1 — e¥)sec’ydy =0
(c) e*(1-e¥)dx+tanydy=0
(@ e tanydy+ (1 —e)dr=0

33

 97. What is the derivative of 2(5'“ x? with
respect to sinx ?

(a) sinx 26 2 In4
(b) 2sinx 2602 In4
(c) In(sinx) 26’

(d) 2sinx cosx 26in®’
98. For what value of k is the function

2x+—1~ L =()
4

f(x)=3k s x=0. continuous ?

NG S

(®)

(NS

(c) 1

@ 2

99, What is the area of the region enclosed

between the curve y*=2x and the
straight line y =x ?

(a) % square units
4 :

(b) - square units
1 ;

(c) 3 square units

(d) 1 square unit

A — BEM-D-HTM



100. A f(x)=?~‘7+6x+7aiﬁTIETﬁ

101.

102.

x> 5x2

THAM R 3R Sicet § F grEwE €, a@
e i o a @ 2

(@) T=(~o0,2)U (3, 0) A S=(2, 3)
(b) T=¢ 3R S=(-c0, )

(€) T=(-o, ) 3T S=¢

@ T=(2,3) 3R S=(c0,2) U3, x)
T fement 58 wohR aifdea (wEraTayt)
? T =% g s s =@ 92
3T B FHTET g A A I R

3 &% & v aae Sl 4, st @
3tfres QY v ST Y wfiRar T € ?

(a) 0-16
(b) 0-48
(c) 0-58
(d) 0-98
T ot 7 20 foraet € Rt @ 5 e
e € | afy 3 ferare argswar (Yew)
T STt €, 3R A 7 A T wftemem
¥ wHar feet St €, @ ==

wilRerar & o asht e frae e
7

(a) 0-009
(b) 0-016
(c) 0:026

(d) 0-047

BEM-D-HTM - A
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103. TRV 5 3 Ry g Yewit (srarii)

104.

105.

22,24,33,37,x+ 1, x+3, 46, 47, 57,
58 <t wiferer (Hifee) 42 % | wise
IR B Neit F 7E FAW: FTE ?
(a) 42, 45

(b) 41, 43

(c) 43, 46

(d) 40, 40

10 D&V T FHIGR HIET 60 ©, 3K 50
et & @i &1 AR 5000 R
NI} T WF oo =T © ?

(@ 20

(®) 21

(c) 22:36

(d) 24-70

Tfe p 3T g w a2 - 30x + 221 =0
FYAE, NP+ P FT AR FATE ?

(a) 7010
(b) 7110
(c) 7210

(d) 7240



100.

101.

102.

3 2 :
If f(x) =%—%——+6x+7 increases in

the interval T and decreases in the
interval S, then which one of the
following is correct ?

(@) T=(-o,2)U (3, ) and S=(2, 3)
(b) T=¢ and = (—, )
(c) T=(-, ) and S=¢

(d) T=(2,3)and S=(-, 2) U (3, )

A coin is biased so that heads comes
up thrice as likely as tails. For three
independent tosses of a coin, what is
the probability of getting at most two
tails ?

(a) 0-16
(b) 0-48
(c) 0-58

(d) 0-98

A bag contains 20 books out of which
5 are defective. If 3 of the books are
selected at random and removed from
the bag in succession without replace-
ment, then what is the probability that
all three books are defective ?

(a) 0-009

(b) 0-016
(c) 0026

(d) 0-047

35

103. The median of the observations 22, 24,

- 33, 37, x+1, x+3, 46, 47, 57, 58 in
ascending order is 42. What are the
values of 5th and 6th observations
respectively ?

(a) 42, 45
(b) 41, 3
(c) 43, 46

(d) 40, 40

104. Arithmetic mean of 10 observations is

60 and sum of squares of deviations
from 50 is 5000. What is the standard
deviation of the observations ?

(a) 20
(b) 21
() 2236

(d) 2470

105. If p and g are the roots of the equation

x2 — 30x + 221 = 0, what is the value of
p3 4l q3 9 :

(a) 7010
(b) 7110
(c) 7210

(d) 7240

A — BEM-D-HTM



106. <Rt x 3R y & forg, Q@ wwEET @MW

6x+y=303R 3x+2y=25%1%, 7y

R % A S

107.

108.

® 3.2, -0s

(b) 339, %, 0-5

(©) -3—5, 20, -05
9’ 3

) 395, 339 0-5

T IRARAl 9o § aorg wree (|
#F) 5, 10, 15, 20, 25, 30, 35, 40, 45,
50 feu &T ® | wom wiw =t (Femai)
it dWme (e fafie) €

(@

(b)

3o 7130 13N 1703,,23507

2-5-7-5, 7-5-12-5, 12-5-17-5,
17-5-22-5, 22-5-27-5

(c) 1-5-8-5, 8-5-11-5, 11-5-18:5;

18-5-21-5, 21-5-28-5

(d) 2-8, 8-12, 12-18, 18-22, 22-28

I VeI T WIET 4.4 B, SR WERO
824 ¥ | afe ui= /A fiw J=wr 1, 2 3k
6 T, a1 3= o1 Jreror @ § ?

(@ 9, 16
®) 9, 4
(c) 81, 16

(d) 81,4

BEM-D-HTM - A
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109.31%@%&%%331%%’

110.

IV T ®], af wfiey TR ([
) ;TR ?

(a) {H}
(b) {TH}

. (c) {T, HT, HHT, HHHT, ................ }
(@) H THTTH, FRTTHL L. o). }
frfafee fafes (smiaa) srawar
ded R =R Hifsre
i | FIR IR | S A | S5 Sl i 8
1 £ 13]15|45|57|50|36{25|9
a1 <t Arteren (Hifsaw) = 7= R
i
(a) 4
() 5
(c) 6
@ 7

111.

I T G1Y ek 9Q € | 3 oG A
wiferar F1 § 6 S99 W Wee BN
() ol GEEElt W ANEeA UE
AT T § 7

5
(2) E
1
(b) 5
7
(c) 1—2'

2
@ 3



106. For the variables x and y, the two

regression lines are 6x+y=30 and
3x + 2y =25. What are the values of

X, y and r respectively ?

20 35

FET s —0:5
19

(2)

; 20835
) TEERA e ATy 0-5
(b) ST

35 20
=, =, -05
() e

35 20
d =, =, 05
@ 53

The class marks in a frequency table
are given to be 5, 10, 15, 20, 25, 30,
35, 40, 45, 50. The class limits of the
first five classes are

(a) 3-7, 7-13, 13-17, 17-23, 23-27

(b) 2-5-7-5, 7-5-12-5, 12-5-17-5,
17-5-22:5, 22:5-27-5

(c) 1-5-8-5, 8:5-11-5, 11-5-18-5,
18-5-21-5, 21-5-28-5

(d) 2-8, 8-12, 12-18, 18-22, 22-28
. The mean of 5 observationé is 4-4 and
variance is- 8-24. If three of the five

observations are 1, 2 and 6, then what
are the other two observations ?7

(@ 9,16
(b) 9,4

(c) 81,16
(d 81, 4

37

109. If a coin is tossed till the first head

- 110.

111.

appears, then what will be the sample
space ? ;

(@ {H}

(b) {TH}

(¢) {T, HT, HHT, HHHT, ................ }
................ )

(@) {H, TH, TTH, TTTH,

Consider the following discrete fre-
quency distribution :

lil b2 U3 5ilwed 15 HaBsiZ || B

15 |45|57150(36(25 |9

s

What is the value of median of the
distribution ?

(a) 4

®) 5

(c) 6

@ 7

Two dice are thrown simultaneously.
What is the probability that the sum of

the numbers appearing on them is a
prime number ?

@ =
® 5
© &
@ 3

A — BEM-D-HTM



112. afs Tt st 3 10 fechadt oo §

113.

5 G IS AR I G (S 1)
Tl FR 3R 3 g W & forg ¥ W
&, T wirfeerar 2Rl i 5 T
¥l o SCESIH HIFRT ST R TR HIT 7

(&)

(®)

il

(c) >

Pd i

U

T Hoh o 3 fires € | uw fmew At

AR T = ;g R =
(fFrem) 2; sk do foeer s
(qgraraget) ® et 75% R fra s
® | ¥ T F @ A Ry ageem
(F=A) IAT ST R 3R ST ST
a vad o T R | s wiliear @ R
g M1 AR g e R o1 2

(2)
(b)
©

(d)

Olthh Old Wi~ Ol

114. Frafafaa waat w fer i .
1. afe 4 3Rk B e swalfa weamg

% @ g @ § Th P(4) = P(B)
=062 |

2.9f¢ 4 SR B HE W q "
3 TR € 5 Pp4|B)=1%, @

PBl4A)=1% I

BEM-D-HTM - A
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115.

116.

s 8 e e 4
(a) ¥ 1 i

(b) & 2

(c) 1323t

(@ T 1R 2

afc o =T (freae) T 4 e

JEHAT ST |, A FT WiiAewar € fy
Tel -3t 2 B: 3 Y ?

"
@ 216
25

®) 216

125

© 216

175

S LETT

100 D& H WE 50 ® AR AW
forem 10 ® | 3fe v TET H 5 Wi
femn smu, @ 7@ W SR A A
ferae s == B ?

(a) 50, 10
(b) 50, 15
(c) 55, 10

(d) 55,15



112. If 5 of a Company’s 10 delivery trucks

do not meet emission standards and 3
of them are chosen for inspection, then
what is the probability that none of
the trucks chosen will meet emission

standards ?

® 3
© =
@ 5

113. There are 3 coins in a box. One is a

two-headed coin; another is a fair coin;
and third is biased coin that comes up
heads 75% of time. When one of the
three coins is selected at random and
flipped, it shows heads. What is the
probability that it was the two-headed
coin ?

@ >
® 3
© 3
@ 2

114. Consider the following statements :

1. If 4 and B are mutually exclusive
events, then it is possible that
P(A) = P(B) = 0-6.

2, If A and 2 are any two events such
that P(4|B) = 1, then P(B[A) = 1.

39

115.

116.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If a fair die is rolled 4 times, then what
is the probability that there are exactly
2 sixes ? '

@ 2%

25
® 756

125
© 316
175

(Y] 516

Mean of 100 observations is 50 and
standard deviation is 10. If 5 is added
to each observation, then what will
be the new mean and new standard
deviation respectively ?

(a) 50, 10

(b) 50, 15

(¢) 55,10
(d) 55,15

A — BEM-D-HTM



117.

118.

afg forelt == X o =it & ww qgea
I (W) 25 ¥R AR ¥=40+ 3%
&, A Y R T &0l % Tgead H1
FT R ?

(a) 25

(b) 40
(c) 75

) 115
afe weelt 15 gAqel weansit 5 e ¥

3R Arem MR, @ v+ M> foraes s

g7

()
©) - —
€)'

(d

BEM-D-HTM - A

119.

120.

Tsh &R 981 60 km, 3v km/hr S 9197 &
TG ERAl © T 3 60 km, 2v km/hr
& 9 ¥ T Rl § | IR A sitag
| 7§ ?

(a).25vlﬂnﬂu

(b) 2-4v km/hr

(c) 2-2v km/hr

(d) 2-1vkm/hr

Tl =em & 150 BE F T T99
60 kg ® | WgH H IAEA a9 70 kg
IR wreferat =1 sftea a9 55kg ® |

T H dgal 3R wefwai & g
wAy: TR g 2

(a) 753K 75

(b) 50 3 100
(c) 70 3R 80
(d) 100 3R 50



117. If the range of a set of observations on

a variable X is known to be 25 and if
Y =40+ 3X, then what is the range of
the set of corresponding observations

119. A car travels first 60 km at a speed

of 3v km/hr and travels next 60 km at
2v km/hr. What is the average speed of
the car ?

onY?

(a) 2-5vkm/hr
(@) 25 -
(b) 40 (b) 2-4vkm/hr
(7o ' | (c) 2-2v km/hr
d) 115
@ | (d) 2-1v km/hr

118. If ¥ is the variance and M is the mean
of first 15 natural numbers, then what 120. The mean weight of 150 students in a
is ¥+ M? equal to ? certain class 1s 60 kg. The mean weight
of boys is 70kg and that of girls is

()hees 55 kg. What are the number of boys
3 and girls respectively in the class ?

148
D | (@) 75 and 75
D

(c) 70 and 80

124
(dyfrSe=" 401, - |

9 (d) 100 and 50
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NDA & NA EXAM-II-2049

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50

T.B.C. : BEM-D-HTM Test Booklet Series

TEST BOOKLET
Lﬂlw MATHEMATICS

-—
Time Allgwed : Jowo"Tosurs and Thirty Minutes Maximum Marks : 300

IPr‘intEd by Mistahel INSTRUCTIONS

1.

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC, IF S0, GET IT REPLACED BY A COMPLETE TEST
BOOKLET,

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and

Test Booklet Serles Code A, B, C or D carcfully and without any omission or discrepancy at

the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the

Answer Sheet liable for rejection.

You have to enter your Roll Number en the

Test Booklet in the Box provided alomgside.

DO NOT write anpthing efse on the Test Booklel

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English,

Each item comprises four responses (answers). You will select the response which you want to

mark on the Answer Sheel. In case you feel that there is more than one corect response, mark the

response which you consider the best. In any case, choose QWLY GNE response for each ilem

You have to mark all your responses GWLY on the separaic Answer Sheet provided, See directions

in the Answer Shect.

Alf items carry equal marks,

Before you proceed to mark in the Answer Sheet the response 1o various items in the Test Booklet,

you have o fill in some particulars i the Answer Sheet as per mstructions sent 10 you with your

Admission Certificate.

After you have completed filling in all your responses on the Answier Sheet and the examination has

concluded, you should hand over 1o the Invigllator andy the Answer Sheet. You are permitted 1o take

away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS,

(i) There are four altermnatives for the amswer 1o every question, For each question for which
a wrong answer has been given by the candidate, ome-third of the marks assigned 1o ihat
question will be deducted as penalty.

(i) If a candidate gives more than one answer, il will be treated 25 3 wrong answer even if one
of the given answers happens to be comect and there will be same penalty 2s above 1o that
question

(itf) If a question is left blank, i.e., no answer is given by the candidate, there will be no penabty
for that question,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0
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